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1. YRd W&ERA 1991 73 764 STfie 9Ror foren 3 fasra ?
3, AT el IANY WIIEESS .
a9 o fael jqevE = e <ol
F.  HESTE S UTE drefol.
T, Y@M YgdieR frae 9o,
Fheda Hv fFam T IR ?
(1) 3 G (2) F AT & G (3) A, d M & (4) 3, 9 7fT §

What are the objectives with which the new industrial policy was adopted by the
Government of India in 1991 ?

a. Transfer the loss making units to the private sector.

b.  Facilitate direct foreign investment.

c. Improve the quality of public sector.

d.  Control on the licence system.

Which of the statements given above is/are correct ?

(1) aonly (2) aand b only (3) a,bandc (4) a,bandd

2. ST HeW qRaE TSI fod Seme age se e ?
¥, TR gEIeUd ¥ 8l 3.
T PN A TEIEE TR FEE
%, HEE & TSRS I JElel.
S, UEHR A ISR Jgied FAT gon,
Tt Ho e st IR 2
(1) o & (2) ¥ 3T & (3) ¥, 9 7T & (4) ¥, 9 31 g

Why has the employment situation in India worsened in the era of globalisation ?

a. Declining growth rate of employment.

b. Negative growth rate of employment in agriculture.

c. Negative growth rate of employment in the public sector.

d. Decreased growth rate of employment in co-operative sector.

Which of the statements given above is/are correct ?

(1) aonly (2) aand b only (3) a,bandc (4) a,bandd
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1998 @1 facxft faf e awamay ®™e a1 G A ST

3. WU (FERA) FF0W a5 &0,

q,  WhY fafmg sewgA fr fafmg gRfaa aer )

T RO TR TYfTRIET H,

T IRAE WHg e e aee S

Tt HoTd U TR R 2

(1) 31 & (2) o1 Hfo7T 9 &R (3) &, T ;M F (4) ¥, 9 30 €
The Foreign Exchange Management Act of 1998 was introduced with a view to
a. change the FERA Act.

b.  Focus on management of foreign exchange and foreign securities.

c. Modernise the Indian economy.

d. Maintain the foreign exchange market in India.

Which of the statements given above is/are correct ?

(1) a only (2) aandb only (3) a,bandc (4) a,bandd

T OIS SO HEATER TaauEr GaifuE <o S o

(1) AAAA (2) AAA (3) AA (4 A

What is the highest investment grade according to the Credit Rating Institutions ?
(1) AAAA (2) AAA (3) AA 4) A

(1) Wifde, soiaie, J9 9 e gl
(2) @t e

3) TRsa framer

4) I g faw

The model adopted by Dr. Kalam for development of India involved

(1) Physical, electronic, knowledge and economic connectivities
(2) Control on private sector
(3) Elimination of poverty

(4) Development of agricultural sector

HEAT BHNITS ST / SPACE FOR ROUGH WORK
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6. TS SEIE i WeweAn fafe @ ArHeed WA §F eledl TehediAT aetdieAl
T fageEer
(1) IRELAE., TEALAE., TAAH.
(2) ALY, LG H3E. ’E.TH. G379,
(3) AW, R.IREN., o9.81.a8.37F.
(4) TH.UG.H.AE., AR, F.6.3m3.90.31m.

Three major public sector financial institutions provide concessional finance for the
projects located in backward areas

(1) RBI, SBI, LIC

(2) IDBI, ICICI, IFCI

(3) NABARD, RRB, IDBI
(4) IFCI, RBI, ICICI

7. WA WERA AT fEdieReme ke 2006 TEY A7 3RWE SER H
9. TofeR 3T favaediy dTEsT fFwmEaei g Suds SO
& doqEEsaEr T gau .
T, foomn foum am s
FIeR Fvel faum W R 2
(1) 31 % (2) F AT TG (3) 3, F 3T (4) ¥, T {7 g
The Government of India notified its Rural Electrification Policy in 2006 with the
objectives of
a. providing electricity to all households.
b.  provide quality and reliable power supply at reasonable rates.
c.  control on power supply.
d. minimum consumption of electricity.

Which of the statements given above is/are correct ?
(1) aonly (2) aand b only (3) - a,bandc (4) a,bandd

8. ‘aiEn =rerer 3T g & (BOT) ¥ HaHid ey SIvrn ?

(1) TST HEMN HEel 1994 (2) BOT &I 1993

(3) TP HEME FIE 1995 (4) TP FEE 1991
Which Act is related to BOT ?

(1) State Highway Act 1994 (2) BOT Act 1993

(3) National Highway Act 1995 (4) Privatisation Act 1991

ool SHNIS! ST /| SPACE FOR ROUGH WORK PT.O
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9. U@ GESH el aeielt 9T, @ 3 Wi e
¥, WENER S TETd SarEE IHReT WiEl WRriiEae STt S,
9. WEVHE S Wed ST ATl FRieEaT uRo,
% WESE SAER AfE TE e,
T TESE TEE Sa g 9 9EeR WednTY I S,
Fhcts o G sl e 2
(1) 3 e (2) o1 Af7 § ®ed  (3) &, 9 30T & (4) ¥, 9 3T g
Public-private partnership policy was adopted by the Government with a view to
a. attract private capital in construction of public infrastructure.
b. improve efficiency in the provision of public services to users.
c. earn more profit through public sector.
d. encourage the co-operative sector to participate in public infrastructure
development.
Which of the statements given above is/are correct ?
(1) aonly (2) a and b only (3) a,bandc (4) a,bandd
10. TG FH GehR faure dum (Ahe) o1 ¥ FEa G 9 aeel I

¥, TeFEd Wl 3aed 9 fafa SR e 2o,

9. T T e S R STuReT R g Q.
. SRl SeaeATeT INTRIAvT ERIT il

T e diss fam Sieer SuetsT S

Fietde! Hivr fau sex R ?

1) 3 % (2) 3T AT ®Fd (3 A, F AT F (4) 9, & 301 €
The National Agricultural Co-operative Marketing Federation of India (NAFED) has
played an important role with the objectives of

a. promoting inter-state farm products and export trade.

b. undertaking minimum price support operations for pulses and oilseeds.

c. market intervention operations for horticuitural products.

d. providing crop insurance schemes.
Which of the statements given above is/are correct ?

(1) aonly (2) a and b only (3) a,bandc (4) a,bandd

HeT BHTEST ST / SPACE FOR ROUGH WORK
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YRATd 3ol HET Sy frafor el e 2
3. T AEON QEST A
q.  ISTereRdE RHeRd

&,  HISUE FHA

T ol =g

FIAIE FUTE B0 AR R ?

(1) ¥ & (2) A AT 9 ®aqg  (3) o, 9 T F (4) 31, & 37fur €

The problem of energy has arisen in India due to
a. Demand supply imbalance in oil
b.  Electric power shortage

Coal shortage

e

d. Water shortage

Which of the factors given above is/are correct ?

(1) aonly (2) aand b only (3) a,bandc (4) a,bandd

12.

gred fgun fam #fee F€ dAsiegd omRd -

3. A ISHEE e FIScAR TERE Fof fael S,

9. @ Ao e et g 2 W R d@ e e R
% @ Al FERRA &, Yo Wiead T eged e .
s forum #fee S uraET sTweTd famn S i S,

Fiets Fo Ay W s ?
LV FFF (2 T, & 3) ¥, & T 4 &, &, T

The following statements relate to Kisan Credit Card Scheme (KCC) :

a. Under this scheme, farmers are given credit for any kind of loans.

b. KCC provides cash credit facility involving any number of withdrawals.

c. KCC scheme covers short-term credit, working capital and long-term credit.
d. KCC holders are provided accident insurance cover.

(1) a,b,c (2) b, c 3) ac d (4) b,c,d

T BHNEIS! ST / SPACE FOR ROUGH WORK
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13. SIfGE SR FHSAD W1 A1 FA 1995 FEd 0 31Tt

3. fam deuEm q@ sffier

¥, T SR GRUT @SR

T, IS ISR ERUT TSRO

3. TeR gRur WieR

AT FOE fFuR TR SR ?

(1) 31 & (2) F AU ®HF  (3) H, T AT & (4) &, & 7fiT €

World Trade Organisation was established in 1995 with a view to

a. Accept the principle of non-discrimination

b.  Accept free trade policy

c.  Accept economic liberalisation

d.  Accept GATT policy

Which of the statements given above is/are correct ?

(1) aonly (2) aandbonly (3) a,bandc (4) a,bandd
14. TFFUPH FOA A srferEededid giqeRa aRum Hiv ?

. onfhs wAq fawre

9. TRET AT ST

% (oY gERT

3. T TaauEy giaei

fedear yafaita arg wafg feer :

(1) FAamrad (2 A, IJFAMEF (3 & F AVS (4) =0 &4

What are the harmful effects of Multinational Companies on Indian Economy ?

a. Distortion of economic structure
b.  Money flows out of the country
c.  Political interferences

d. Harmful for foreign investment

Select the correct alternative from those given below :

(1) aandb (2) a,bandc (3) b,candd (4) All the above
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15.

9 co1
S G gem g 3Ry S o ?

(1) SRR §og ST Tae aese gog Ia@n

(2) SR FH FTO!

(3) W F@s Hl

(4) TN TEEY GG TGOl

What is the main objective of the Janani Suraksha Yojana ?

(1) Reducing maternal and infant mortality
(2) Reducing birth rates
(3) Caring for mothers

(4) 'Reducing infant mortality

16.

ST RIS SN / SPACE FOR ROUGH WORK

Tz fralq SR T RUH Eefirisl HIE T wer et ?
(1) dife fawg 9o

(2) TP AY=TN HEHE®
(3) WU faww Heed
(4) W@rE 3T AT AEHE S

Which of the following organisations was established with a view to support the small
scale industries in export promotion ?

(1) Technological Development Cell
(2) National Small Industries Corporation
(3) Small Scale Industries Development Organisation

(4) Khadi and Village Industries Corporation

P.T.O.
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WA TR 1991 T fETE g dgEaedt a1 ¥ SRR

¥ JAqEuarEl gH 3o,

F.  Fedl WA QL.

T fot woiem awidt 3@ wWeRE g Qo

e Sivra/dl faem/a TR e 2

1) 3 & (2) H T d G (3) H, A F (4) 31, 9 Ff1 €
The Government of India announced the New Industrial Policy 1991 for the small
scale industries with a view to

a. make them strong and viable units.

b ensure the supply of adequate flow of credit.

¢.  provide raw materials.

d. ensure payments for sale of products.

Which of the statements given above is/are correct ?
(1) a only (2) a and b only (3) a,bandc (4) a,bandd

. TRNIPTIT Wi TRl wieliors! S awen famed! s e s 2

(1) wgE : (2) dag

(3) e § 9=A 4) e &

In the sale of which of the following have the co-operative societies of Maharashtra
specialised ?

(1) Cotton (2) Tobacco

(3) Fruits and vegetables (4) All the above

1951 WA WRATEAl Wehid SN A1 & gl Fel 3R

¥, SfReTE Seg T ae @,

g, Y ST IUME axieAl e ue o,

F.  HeeAl ATl ST g g

3. UNAE IART Figen fafde gereayd dvar s A g,

e Hiv/dl faum/a T eR/a ?

(1) 3 &K (2) H AT G (3) H, g A0 F (4) &, 9 30T €
Since 1951, the foreign trade of India has changed with a view to

a. rapid growth of industrialization.

b.  declining imports of foodgrains and consumer goods.

c. decrease in imports of raw materials.

d. changing the structure of exports in favour of Indian manufactured goods.
Which of the statements given above is/are correct ?

(1) aonly (2) a and b only (3) a,bandc (4) a,bandd

Tl BHENTS ST / SPACE FOR ROUGH WORK
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20. TEEN fauur dei @ g Wew qfie IR e e

3. Yt IcureHAr fRddl TR Ul Hed &l
9. WG e gfaer g

&, ORI QE SR S0

T VAl SEER FHSqEaT Hol

st AT Ay SR IRd 2

(1) 31 e (2) FAMTT G (3) &, 9 7T & (4) &, 9 FfoT g
Co-operative Marketing Societies have played an important role in

a. Helping to stabilise prices of agricultural products

b. Providing storage facilities to members

c.  Helping to protect members from several malpractices

d. Providing loans to cultivators on long term basis

Which of the statements given above is/are correct ?

(1) aonly (2) aandb only (3) a,bandc (4) a,bandd

21.

WAl B G TR HEEe gadd ARd ?

3. 1902 d. 1903 %, 1904 €. 1912

g wag fraer

(1) Iy (2 FATH (3) & Al g (4) T 3oy 3
Which of the following years relate to Co-operative Acts ?

a. 1902 b. 1903 c. 1904 d. 1912

Select the correct option :

(1) aandb (2) bandc (3) candd (4) danda

o] HHEIS STRT / SPACE FOR ROUGH WORK
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22, SMGHEUT=A Y Weid SeHEr ey aar

3. SUPIERT

CRENRCISUIE T

& fufrcdieto

A CETE R

g g3y faer

(1) FFMTs (2 AT (3) T 3mfor & (4) & 3foT g

The process of globalisation includes the following factors :

a. Internationalisation

b.  Privatisation

c.  Liberalisation

d. Decentralisation

Select the correct option :

(1) aandd (2) aandc (3) bandc (4) candd
23, ST HEH HIURT ?

C NI

g, TWfede SERoT

& frdaE

g 9gUEd U

A vy fer - |

(1) 31 e (2) o, gAfTE (3 I FAUrs (4) ¥ Mfor g

What are the elements of globalisation ?

a. Technology

b. Communication

c. Disinvestment

d. Multinational companies

Select the correct option :

(1) aonly (2) a,bandc (3) a,bandd (4) aandd

T HMENTS! ST / SPACE FOR ROUGH WORK
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24, T (GATT) F¥fid WIS TReT (social clause) @Ed g FTE &l -

(1) foel smREr fawr

(2) foReRiie SUGE Qo= STAIeR & TSRO

(3) framr 7 frdly & %l

(4) IMYFE TIIHEET ITET 0

The ‘social clause’ of GATT provisions was related to the following :

(1) Expansion of foreign trade

(2) Duty on imports from developing countries

(3) Remove controls and restrictions

(4) Use of modern technology

25. RATA] W AN e dewia Eeiadel S faum aade o 2
(1) OECD M R fafdida mew ared )
(2) WRdET OPEC YRUIER SATYR M SHOTG GURE 378
(3) RareAr frafde $oed ey 3R |
(4) SAARC SSRIIGH 3T Hgd YHOTA dee e

Which of the following statements is most suitable to describe direction of India’s
foreign trade ?

(1) Importance of OECD countries in exports of India has increased
(2) Trade with OPEC regions has improved substantially
(3) England occupies the first place in India’s exports

(4) Imports from SAARC region have increased

Heed] BHTS! 3P / SPACE FOR ROUGH WORK PT.O
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RATE] <@IeAl Ueaie Aened @elia oed ffvag soa J&d -
(1) IEFE e

(2) WEHNH Wi

3) F& | T AT ae

(@) wafirs fyrome ardfEE

Following target was not fixed in India’s Tenth Five Year Plan :

(1) Reduction of poverty
(2) Encouragement to cooperatives
(3) Increase in growth rate and employment

(4) Universalisation of primary education

217.

W fgemnds A quer S ?

F. gl GY Gl

F. A foeor

%, [ <o

3. dRAE wHOEE

a9y et

(1) 3 ®ed 2) 9 @& 3T g

(3) @S (31, &, F 3T ©) (4) arde TR walg A TR

Which is/are the major problem/s in road development ?

a. Slow-paced growth

b.  Uneven distribution

c.  Poor quality

d.  Small number of vehicles

Select the correct option :

(1) aonly (2) b,candd

(3) All(a, b, candd) (4) None of the above options

PAT DTS ST / SPACE FOR ROUGH WORK
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28, faviy anfds &7 FAST 2005 & AT ¥ HUA A
9. WHY s ST Hl.
T, g da gfaen i o,
3. Wy fafma @ fAfvea &
I g9 fEeT
(1) 3 B (2) K A T Bk
(3) &, 9 3fr % (4) &, 9300 T
The Special Economic Zone Act 2005 was passed with a view to
a. Promote international trade and earn foreign exchange.
b.  Attract foreign investment.
c.  Create infrastructure facilities.
d. Determine foreign exchange rate.
Select the correct option :
(1) aonly (2) aandb only
(3) a,bandc (4) a,bandd
29, YIHICTET AR 3T frafd SR aegvarsh S et TEHr T T S
et ?
(1) TRIFED (2) NCDC
(3) AGMARK (4) FOATH FOTHEG TE
Which apex co-operative organisation has been established to promote inter-state and
export trade of farm products ?
(1) TRIFED (2) NCDC
(3) AGMARK (4) None of the above
30, 9RAE 3G GERUTHMR TH.MR.A W, (MRTP) Sl SIFT R0 HEE e ?

(1) THITA.U. (FEMA) (2) HUHEST 3{F (Companies Act)
(38) WA e (Factories Act) (4) alerdant THE! Tl

Which act replaced MRTP after economic reforms in India ?

(1) FEMA (2) Companies Act

(3) Factories Act (4) None of the above

T BHENTS! S / SPACE FOR ROUGH WORK
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What was the main objective of 1980’s National Rural Employment Programme ?

COo1
31. © GyHiEw BUN &E 7

(1) o amim-anfis fed gumo

(2) Perai=a wBRd FHOT guRo!

(3) fomt IsmEd g

(4) fomtan anfis wgwm arefan

What is women’s empowerment ?

(1) To improve the socio-economic condition of women

(2) To improve the literacy rate of women

(3) To provide the employment opportunities for women

(4) To increase the participation of women in financial matters
32. 1980 =1 UFM T UWR wEdshA g 3RE &9 g ?

(1) AT FERAT T JSTIEET i HEeere (sl

(2) T JaSH I USRS S m%rm o

(3) T AT TS T IS w6 g

(4) Yrofed ssTmAT dife wea qEe

(1) To provide seed capital for self-employment to rural youth

(2) To provide training facilities for self-employment to rural youth

(3) To provide employment opportunities for rural poor persons

(4) To provide technical assistance to educated unemployed persons
33. WW@WW@WWW@% ?

. WIS ITIE, YU Iofar IS, SMYFAE TAGAA T AX.
g, YA giowEn 3uE, e AU 31
ferdhglianvor.

%, UM

g, ged i

Qg qaty faeer

(1) T H alsl (2) H M7 § s
(3) 3, ¥ 37 & TU (4) & M7 T s

What is the basic cause of illness of industrial sector in Maharashtra ?

a. Lack of capital, inadequate energy supply, less use of modern technology.
b.  Lack of infrastructural facilities, lack of skilled labour.

¢. Decentralisation of industries,

d. Increasing competition

Select the correct option :

(1) Only a is correct (2) a and b are correct

(3) a, b and c are correct (4) c and d are correct

AT BHRIS! 50 / SPACE FOR ROUGH WORK
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W@ﬁﬁﬂﬁ@' Aead T Wardd SFwi 3907 HH HuaEEd Fieg soan s

3ET :

(1) R 99 1 TIHEO Guaie A S 5%

(2) W I 9 I Ygaies A S 10%

(3) Uudfts aeear dfgem @M aufedl W@ S 1%, SOl 9 auiedr S
2% AT FAOT TEHUT 10%

(4) aTATH FUAE AT

Which of the following statements is correct regarding reduction of poverty in the
th 1. .
11" Five Year Plan period ?

(1) Reduce poverty by 1% per annum totalling to 5% during the plan.

(2) Reduce poverty by 2% every year totalling to 10% during the plan.

(3) Reduce poverty by 1% in the first two years and 2% per annum in the remaining
three years totalling to 10% in the plan period.

(4) None of the above is correct

35.

TS TGS FENIETT IV HEAHAE STHATSIGU HLUAT 3T 2

(1) USlfcqs Amoy foerg Frisn

(2) W

(3) WoRY WA &7 fawm wrEiwd

(4) TSOR & A

Which programme has been implemented in Maharashtra for drought management ?
(1) IRDP

(2) TRYSEM

(3) Comprehensive Watershed Development Programme

(4) Employment Guarantee Scheme

36.

(3) ORI e

4) THE THEA GROT

What is the main reason behind load-shedding in Maharashtra ?
(1) Increasing demand and inadequate generation

(2) Lack of proper management

(3) Leakages in transmission

(4) Faulty Government policy

e DTS ST / SPACE FOR ROUGH WORK
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37. difss gRomEl 3R FR IMRE ?
g O ISR, e F&
5. T anfer sRimardter gawon
g gt faer |
(1) 3 307 § aeR (2) 3, T N7 F TR
(3) WA & TR (4) F T T TR
What are the objectives of Monetary Policy ?
a. Neutrality of money, price stabilisation, exchange stabilisation
b.  Full Employment, Economic Growth
¢. Infrastructural Development
d. Educational and Health improvement
Select the correct option :
(1) a and b are correct (2) a, band c are correct
(3) Only c is correct (4) c and d are correct
38. WU § ST HIRUT HITET FUFHA TR Ft ?

(1) s 2)
(3) <. wed fam (4)

Which of the following Prime Ministers
globalisation policy ?

(1) Chandrashekhar (2)

(3) Dr. Manmohan Singh (4)

.8, Rag @
gl SEter

of India declared privatisation and

P.V. Narasimha Rao

H.D. Devegowda

S PG SR / SPACE FOR ROUGH WORK
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39. freRea soHEmH fagiaer e qor sufer et W amdie g9y F R 2

(1) TR i fer o tvR qor @ 9= faes 9 agen

(2) TR R fer s S e Qe de e aeed

(3) Sy dem enfi du gew greAviel Geddy FHIUIRR ST

(4) o AR

According to Fisher’s Quantity Theory of Money, what is the relationship between
value and quantity of money ?

(1) Value of money, other things being the same, varies inversely with its quantity
(2) Value of money, other things being the same, varies positively with its quantity
(3) Relationship between quantity of money and value of money is proportionate
(4) None of the above

40.

I cwqwamﬁﬁaﬁaﬁvﬁﬁmmgﬁém%?

(1) =EEE FTE HAC FEQ T 250 & T 2500 G40 AEHUAT S IR,

2) @ forig wafa aRfavarad! seAgewi sTavaswaT 3.

(3) T W AR T AGA HFOI IUFR Hvreart wRieda et sfreomss, Srofa
39 .

(4) HEHE T E TG HUE T 9T AR I FRUNGEH JEaa=l T80 Hag SHauf-eh
3G AL |

Which of the following statements regarding professional tax is incorrect ?

(1) Maximum limit of the professional tax has been enhanced from ¥ 250 to ¥ 2500.
(2) Constitutional amendment is required to raise the tax.

(3) Under no circumstances, the powers to levy and recover professional tax can be
entrusted to local authorities.

(4) Any state law concerning this tax cannot be deemed unconstitutional merely on

the grounds that the professional tax is Income Tax levied by other means.

41.

e oa A freifa soaedt el Shwga @ricdst o ST s ST ?
(1) G IR VS @G B

(2) G INRE I s F0

(3) @ @ fade yHor S F

(4) TR FH FO!

In order to control credit creation in the country, which of the following measures is
used by the RBI ?

(1) Buying of securities in the open market

(2) Sale of securities in the open market

(3) Reducing Cash Reserve Ratio

(4) Reducing Bank Rate

T BRSS! ST / SPACE FOR ROUGH WORK

P.T.O.



20 ' A

Co1
42, YRAMS AESATE G GHET ST 3R 2
(1) oA ATl 379 (2) NG gAY faen
(3) 3MYFTeRiRTTT (4) FEIRE STTIerse
What is the basic problem of small-scale industries in India ?
(1) Lack of raw material (2) Inadequate infrastructural facilities
(3) Modernisation (4) Unavailability of labour
43. TEHN &9 T@ 3RE FIA 2
(1) 3w fedE wed g
(2) INfEHGEAT GHA HSHTAT oAU HEAHIHT FTOT
(3) e TAGEST FO!
(4) TEH feaday SaEm
What is the main objecfive of the co-operative sector ?
(1) To provide financial support to industries
(2) Maximisation of welfare of the economically backward class
(3) To provide credit supply to agriculture
(4) Protect the consumers interest
44. TEEN d6 G SHH A A F9 od AN W F RWUEE 2
) TN R (2) Tk [
(3) W& (4) e Faerd
What is the rate at which the Central Bank extends loans to the member banks
called ?
(1) Interest rate (2) Bank rate
(3) Repo rate (4) Overdraft facility
45. TgF Y WueA= (FUA 3N OpeEnie faser 3feE” a1 siwfa wivrer aufedd s

e R SvaR 3k SfEuaE I SR,
1) T 2050 (2) 9 2030 (3) T 2020 (4) a9 2015

Under the “Millenium Development Goal” by which year is the UNO to achieve the
target of reducing hunger effect to 50% set for itslf ?

(1) Year 2050 (2) Year 2030 (3) Year 2020 (4) Year 2015

AT BHNHS! IR / SPACE FOR ROUGH WORK
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AT AR FHfed wed @ foxdia gHar aefavae g deieed AEHE &9 HUaE
T I IO HIEHH STGe Tl 3 ?

(1) Here el gt AT SR gH Rl (TESA)

(2) e Tud T (THTES)

(3) TEUSEE AW WUSTR Fie (TESTEar)

(4) 99 e FREA (ST)

Which programme envisages organisation of the rural poor people to build their
capacities for managing their own finances and then negotiating bank credit on
commercial terms ?

(1) Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA)
(2) Self Help Group (SHGs)

(3) Swarnjayanti Gram Swarojgar Yojana (SGSY)

(4) Twenty Point Programme (TPP)

47.

e T 3 vRd A TG WreeriE) FORE AT R S s 2
(1) e ISR AT

(2) 8E WR A5

(3) .. TREI ISR =T AT

(4) J9H TE ISR S

Which of the following programmes has been implemented both in rural as well as
in urban areas ?

(1) Jawahar Rozgar Yojana

(2) Nehru Rozgar Yojana
(3) J.P. Narayan Rozgar Guarantee Yojana

(4) Prime Minister Employment Yojana

48.

TENY TF TeaRl o divre ifafagm grfEfa et s 2
(1) R % 3w fear sfufmm 1934 (2) AT o sfuf=w 1956
(3) o TgeTE w1949 (4) Foie THEE AR
Maharashtra State Co-operative Banks are regularised by

(1) Reserve Bank of India Act 1934 (2) Indian Companies Act 1956
(3) Banking Regulation Act 1949 (4) None of the above

BTl BHNTS 31 /| SPACE FOR ROUGH WORK
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49.

22

(1) 1 fAdien TR I Hd

(2) A1 fHEdien TR G Fid

(3) T fohwciiell T&R T IR fasht i

(4) 7 fhadenr SR frifia woTeligR faed

‘Minimum Support Price’ means |

(1) The price at which the government produces

(2) The price at which government purchases

(3) The price at which government sells in open market

(4) The price at which government sells through public distribution system

50.

IRAG o T 8 a9 fog S auf wierva s ?
(1) 2009 (2) 2010 (3) 2011 (4) 2008

In which year did we adopt the new symbol ¥ for our currency ?

() 2009 (2) 2010 (3) 2011 (4) 2008

51.

TIAAIE! HIVCAT GUGIGR ToHaTerdT Fahel GRomA gt ?
L} ATHERS

'cﬁ YR TEEEIER 9 fAdee SR

3. fif¥=d fgdt 9d9 AaforR faderes
FhedS Hvr foum sleX 3R ?
(1) A qTad (2 & A0S (3) HW% (4) 31 AT €

Which of the following groups are adversely affected by inflation ?

a. Wage earners in the informal sector

b.  Profit earners

c. Salary earners with salaries indexed to inflation
d. Pensioners with fixed pensions

Which of the statements given above is/are correct ?

(1) aandb (2) candd (3) bandc- (4) aandd

HEAT BHNTO! ST / SPACE FOR ROUGH WORK
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52, HIUTE ST AIREh ST AEAH W Al AT STHA RO ?
(1) o - gl — Jecd — qE
(2) TR - QAGCA — HRIEha — Hat
(3) Hel - [Tecd - — Y
(4) HEIERT — el — ST — Qe
In which sequence does a business cycle in any economy proceed ?
(1) Depression — Inflation — Revival — Recession
(2) Recession — Revival — Inflation — Depression
(3) Depression — Revival — Inflation — Recession
(4) Inflation — Depression — Recession — Revival
53. TAAl Feld Wieliois! HUTd Torea 9Ror sifyes aerat 3 ?
(1) HR 9re 31T g Gt Hard
(2) FAHE dqrE 3T Wesi—d Ged are
(3) FHUUEA HUT 3NV Gl @Ed B
(4) TR FU 3T gees GeEid ae
Which of the following will make a fiscal policy more successful during depression ?
(1) An increase in taxes and a cut in the public expenditure
(2) An increase in taxes and an increase in the public expenditure
(3) A cut in taxes and a cut in public expenditure
(4) A cut in taxes and an increase in the public expenditure
54. Wogw wfadt FwmEE fGs R ?

(1) s guRoTEE
(2) d& THEaEde reRdE

(3) oI HT GEROT

(4) 3R A GEROT

What for is Narasimham Committee known ?

(1) Economic reforms
(2) Bank reforms
(3) Improvement in direct taxes

(4) Improvement in indirect taxes

- Al SRS SN / SPACE FOR ROUGH WORK
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55. TEITEhde aTEiaT GhNel X agelat &1 Y9F gSdl ?
(1) & agel ared
(2) F agel wed
(3) W agel Tfad W
(4) H gl ufee aeq Nt Ha ged
What is the effect of inflation on Government tax recovery ?
(1) It increases tax recovery
(2) It decreases tax recovery
(3) It has no effect on tax recovery

(4) Increases tax recovery initially though later it decreases

56. fooTd oot QAT el ST Uefgd 3R ?

(1) feritar gma gamon (2) eI U7 STTEAET U GHROT
(3) WRIH&E Garon (4) SR GEron

With what reforms is the Vijay Kelkar Committee report related ?

(1) Financial sector reforms (2) Direct and indirect tax reforms
(3) Administrative reforms (4) Trade reforms

57. TRV @9 - (MW + SAGAE TFHA + HESh Ao o)) =

(1) T9HNE T (2) ITETEHE e

(3) Wl T (4) wWIfs o<

Total Expenditure — (Revenue Receipts + Recovery + Sale of Public Assets) =
(1) Fiscal Deficit (2) Budgetary Deficit

(3) Revenue Deficit (4) Primary Deficit

58. VT HNUTEE! aiftgeh duel ywR fasfaa Foam er R ?
(1) UFE fEam o (2) SR fafor &y
(3) SaWEE JfarEr qofdr (4) o wd

What for has the Government taken up multi pronged strategy to develop intellectual
property regime ?

(1) Safeguarding national interests (2) Creating awareness

(3) Meeting international obligations (4) All the above

FHeT BRINEIS! S / SPACE FOR ROUGH WORK
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59. YRAWE ‘TN ofiw &% (J¢7) Had TG FIAT FGHREEE! A FOA IS 2
(1) SAHeEe & (2) ST &F
(3) wifedl UM & (4) TR EEEA &
Mostly with which sector are ‘Special Economic Zones’ associated in India ?
(1) Automobile sector (2) Manufacturing sector
(3) Information Technology sector (4) Power sector
60. WEfeTdd HUIT IAT WA SERY AT 78T ?
(1) BH, F=d oot T faeg
(2) O TRENEH, Fed o T Pz
(3) woeswr, faA= M1 Ae-T9E
(4) &= dd, THfae TG T A R
Which of the following industries are not the basic industries in India ?
(1) Coal, Crude oil and Electricity
(2) Oil extraction, Crude oil and Coal
(3) Coal, Cement and Iron & Steel
(4) Crude oil, Natural gas and Oil extraction
61. AHEET U FCHE I BA ?
(1) TERE I o (2) TAaUIA @
(3) TER IUANW qE 4) F9A =
What will happen if there is a decrease in the population ?
(1) Decrease in per 'capita income (2) Growth in investment
(3) Growth in per capita income (4) Decrease in savings
62. 2003 T¥d WY TT FH 9 AT fTHE qF g U dHT T B ?

(1) AR &% (2) W e 98
3) o ¥ (4) Fheds TR

Which bank was known as Maharashtra State Agricultural and Rural Development
Bank up to 2003 ?

(1) Land Mortgage Bank (2) Primary Co-operative Institutions
(3) Land Development Bank (4) None of the above
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63. 1996 — 97 A=A fHISH HeaH e holed! ARG JITEIS HIvTar ey arwen gar ?
(1) T YIS ST SEE 3 12260 STHNT @Y 0T ¥Rl Wit ¥ 158-30 T4
Hig-are
(2) W] AATEIET SR SRER T 160-30 UM @Y 3T IEd WrTEEt ¥ 165-20 NI
Afe=er
(3) U TS T TETE T 165-45 STHNT W AT YR WrTErd) T 148-30 TS
BRI
(4) T AMEIST <OHRT TXER T 175-55 ST @ ST TEd et 18520 YA
4
What criteria was used by the Planning Commission for estimation of poverty in
1996 — 97 ?
(1) Per month per capita ¥ 122:60 consumption expenditure for rural sector and
T 158:30 for urban sector
(2) Per month per capita T 160-30 consumption expenditure for rural sector and
T 165-20 for urban sector
(3) Per month per capita I 16545 consumption expenditure for rural sector and
T 148-30 for urban sector
(4) Per month per capita I 175-55 consumption expenditure for rural sector and
T 185:-20 for urban sector :
64, YRAMIA AHT TRET T HOAIG! BT HEFA SER HOIE el ?
(1) 9 HAH FEHA
(2) TR RS FEwA
(3) Uafcas Ao fasme sriey
(4) b w4
Which programme has been announced for eliminating rural poverty in India ?
(1) Twenty Point Programme
(2) Minimum Needs Programme
(3) Integrated Rural Development Programme
(4) All of the above
65. YRAAT ¥ 2000 1 ARUEATITS gRUTY CHdeA IEE FF 3R ?

S (1) § 2020 A fEHH S 91 SO

(2) |9 2030 T Uge AREEA €A H0!

(3) ¥ 2040 T¥a H-TEY YHOTT a6 Ol

(4) 9 2045 A feeR AiREEA W H!

What is the long-term objective of India’s Population Policy 2000 ?
(1) To achieve minimum birth rate by 2020

(2) To achieve healthy population by 2030

(3) To increase the sex-ratio by 2040

(4) 'To achieve a stable population by 2045

T HHNS! 5N / SPACE FOR ROUGH WORK
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2000 — 01 AT a8l ARAMHIA TaeHAra YU MER Tl qren ?

(1) 1.84 3FX (2) 141 8FX

(3) 1-32 FFH (4) 106 3T

The average size of agricultural land holding in India in 2000 — 01 was
(1) 1-84 hectares (2) 1-41 hectares

({3) 1-32 hectares (4) 1-06 hectares

67.

S IR Yol Sl g2 qeiorist ST B g Fmir g ?

(1) FCI fosft fbma amftr enfie @«

(2) FCI fast fbva anfor Wi fFma

(3) foHAM mum fordd 3mfor feshl fohme

(4) fFue uR fva onfn @ e

Subsidy in public distribution system arises from the difference between the
(1) Issue price and the Economic cost of FCI

(2) Issue price and the Procurement price of FCI

(3) Minimum support price and the Issue price

(4) Minimum support price and the Procurement price

68.

2004 THIT fEgEAM 2r3rg oMY 3t SEI & SHAMG R STRIR, AHIT Sefie
e EreTds! iU S el gaid Hidr 3R ?

(1) FESR (2) HESE QAR S

(3) WESHHT sl @ W

According to the HT and IIET study 2004 on rural credit, which one of the following
has the largest share in rural credit ? ;

(1) Money lenders (2) Public sector banks

(3) Co-operative banks (4) Others

69.

Q=T SR o A9 STRArde TR aifve §Ued 3ced 9 IR, d @i 2

(1) 9Ra 220 foex T o= <o 79 3 9 5 &R faex

(2) 9Rd 220 fefex T wfvewer < 78 300 @ 500 fefex

(3) 9RA 2200 faey o WiY=r Iui w8 3 @ 5 IR foex

(4) WRd 3000 feex oX Wfv=med o w8 220 O 440 faex

The annual average yield of cows in India as compared to Western countries is

(1) 220 litres in India as compared to 3 to 5 thousand litres in Western countries
(2) 220 litres in India as compared to 3 to 5 hundred litres in Western countries
(3) 2200 litres in India as compared to 3 to 5 thousand litres in Western countries
(4) 3000 litres in India as compared to 220 to 440 litres in Western countries
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70. T fdees &oTd 2
o, I fAduris
ER PG BN IS
. W S T feer e
T WA e fwiE
Fles HoTd faur W TR 2
(1) 3 wad (2) FAM TG (3 & d70 & (4) ¥, 9 778
What are the indicators of development ?
a. Income index
b. Non-income indices
c.  Social and political development index
~d. Human Development Ihdex
Which of the statements given above is/ére»correct ?
(1) aonly (20 aandbonly (3) abandc (4 abandd
71, IR AR HOUFT AR gl Toerdd! v Jedion e 3R ?

¥, IARAN G Q9 USH A — R, HiSdd.

g, 99 < Rd o faefgd smed.

%  Qd QU e I e ek faydad e TR,

€. I <Y 3R

Fiods Fo fFuE sis R 2

(1) 3 & (2) A AT T Gd  (3) A, d ;T F (4) 3, % 3fiy €

What are the assumptions of Heckscher-Ohlin’s Theory of International Trade ?
There are only two factors of production — Labour and Capital.

a
b.  There are only two countries which are developed.

o

There are only two countries and they differ in abundance factor.

d. There are only two countries.

Which of the statements given above is/are correct ?

(1) aonly (2) aand b only (3) a,bandc (4) a,candd

o] BIMNIS! SN / SPACE FOR ROUGH WORK ;
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| 29 co1
FNI HSBH Yad TIHMRN Gheud fedcard el ?
(1) 1997 HeY 9RA FrNH geam

(2) 1987 TE) Tl § fHHE HeM
(3) 1997 AEY WRArEA faxig HeeH

(4) 1987 W& WRARA] YSSINY He@M

Which commission brought into vogue the Sustainable Development term ?
(1) Planning Commission of India in 1997

(2) Commission on Environment and Development in 1987

(3) Finance Commission of India in 1997

(4) Fiscal Commission of India in 1987

73.

F&AT NS SR / SPACE FOR ROUGH WORK

Yol gremamfia S Qe 99Ey gk ?

3. uroft

g, gt

F. @

T AHEEn

e AR faue wa o 2

(1) & G (2) 3 HT g Fed
3 ¥, g 4) 3, 3T S

Which resources are included in the natural resources ?

a. Water

b. Forestry

c. Mines

d. Population

Which of the statements given above is/are correct ?

(1) aonly (2) aand b only
(3) a,bandc (4) a,bandd

p.T.O.
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74, SFa% R U= TGN R HIUQ ?
ERIIC IS IR ETIE TN
. AogEadl S
3. FEMH T g FuSHadl :R
Fets F faue W o’ 2
(D A B (2) ¥ 0 9 T
(3) @, T 3T % | (4) =, T AT
What are the agreements under the World Trade Organisation (WTOQ) ?
a. Agreement on Agriculture
b. Agreement on Markets
c.  Agreement on Fisheries
d. Agreement on Trade in Textile and Clothing
Which of the statements given above is/are correct ?
(1) aonly (2) aandb only
(3) a,bandec , (4) a,bandd
75. WG STAYURITAAT FIUT I AW A 7

¥, e AREEHTVR AN AT FOAMER! SR SeeA arefar,
F. TS Ahd FAES] HL.

F. I TER § WEAHEE! R STER R SRR H0,

3. TEdqe faar Zeededt.

Tt Hord fHUE e 3R ?
(1) 31 &ad (2) I AT 9 T
(3) 3, & aAfT (4) I, F AfoT ©

Food Security in India has been enacted with a view to

a. Promoting domestic production to meet the demands of growing population.
b.  Providing free food to poor people.

c¢.  Providing minimum support prices for procurement and storage of food items.
d. Operating a public distribution system.

Which statements given above is/are correct ?
(1) aonly (2) aandb only
(3) a,candd (4) a,bandd

el BATETS! ST / SPACE FOR ROUGH WORK
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76. UNDP =41 2011 =1 A4 faar I@aramsd agaii qisa fdwisn Aree aea et
FAA IR

3, WRd

q. St

%, A

g, e

FieTdshl ST SIMEET AU Feled IR 2

(1) & 31, d 1 & (2) WFd &, & T €
(3) e 3, & fT © (4) Wad A, & Afor g

In UNDP’s Human Development Report 2011, Multidimensional Poverty Index has
been determined for the following countries :

a. India

b. Colombia

c. Kenya

d. Nigeria

For which countries has it been determined ? .

(1) Onlya,b, and ¢ (2) Onlyb,candd
(3) Onlya,candd (4) Only a,bandd

71. wmwwma@ﬁ7

q. T

= AT [

% W WO

g fafsd

aﬁmw‘ﬁqﬁ'a:c:r

(1) 31 % (2) 3 M7 F Fed
(3) 3, & 30T & (4) 3, F AMT T

What are the internal sources of fisheries in India ?
a. Rivers

b. Canals

c¢. Big dams

d. Wells

Select the correct option :

(1) a only (2) aandb only
(83) a,bandc (4) a,bandd
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78. SIfd% SUR HoeAd Welleds! HUM &R 3ed 2
3. Tl 9 ARETIR HFHA B,
d. SO € HWE
h, @?ﬂ afor E2IRIES HEHdﬁl h{[{,
s, difgd AT §9HAT AR HaftE aeiegeEr H,
Fierdd Ho U e IR ?
(1) ¥ % (2) ¥ 3T T Gerd
(3) 3, I 3T & (4) ¥, F a7 T
The agreements in World Trade Organisation (WTO) are
a. General Agreement on Tariffs and Trade.
b. Terms of Trade Agreements.
c.  General Agreement on Trade and Services.
d. General Agreement on Trade related aspects of Intellectual Property Rights.
Which of the statements given above is/are correct ?
(1) aonly (2) aand b only
(3) a,bandc (4) a,candd

79. S 9 SARIITE HeHdl B (2) Hivwd 3R Med ?

q.

YAHE MG U7 AR Seeqfye &0l 9 Srifdes SeameATd aTe . v,

% dorer geaun fafd 9 s ol

S,

TR AT 9 9 e quf ae o

Tt SR e R a2

(1)
(3)

37 Thad (2) 37 3T & Had
A, d AT * . (4) ¥, 9 M7 €

What are the objectives of General Agreement on Tariffs and Trade ?

a.
b.

c.
d.

To expand International Trade.

To increase production in the world and establishment of full employment in the
member countries.

Free export and import of oil.

Development of world resources and its full utilisation.

Which of the statements given above is/are correct ?

(1)
(3)

a only (2) aandb only
a,bandc (4) a,bandd

HoeT PGS 3TN / SPACE FOR ROUGH WORK
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80. WA I FRTSH Eoudl T IREA A

3. I7aYSH Yok SHNOI

¥,  ¥EER J@ul

F.  H GHANKCT @ =]

g vEde g

Fiatet Hv fue sl R ?

(1) 3, & 37T & waq (2) & ®ad
(3) & 3T & herd (4) 9, &% N0 € %ed
General Anti Avoidance Rules (GAAR) aim to

a. Target Anti-dumping duties

b.  Arrest corruption

¢.  Curb tax evasion

d. Control inflation

Which of the statements given above is/are correct ?

81.

(1) a, b and c only (2) conly

(3) b and c only (4) b, cand d only

2012 =1 Yo faceft Taaus gReneR (@ e gy fadeh revee war amt
A B IRGE G

q. SR 3T Hg

%, fae weq

g, [t suer

Jg yaig fAgeT

(1) o, & M € Hekd (2) 3, d M & Gk

(3) & MM & e (4) 3, & 30T € wad

According to Foreign Direct Investment Policy 2012, FDI is not permitted in
a. Air transport services

b. Gambling and betting

¢.  Chit funds

d. Nidhi companies

Select the correct option :

(1) b, candd only (2) a,bandconly

(3) b and conly (4) a,cand d only

Pl SHNTS! S / SPACE FOR ROUGH WORK
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82. Wieieds &IUd 9oy IRy 7187 ?

(1) T q& SN Ao Sedmona S <ul T e TgUimETeAT TureR
ae H!

(2) WU onfiE 9 wIfSE gwl enfor Wikpfaw fawEer T Qo0

(3) T Ny Iy UHAd Wedsd Meded <0 F SR ASEd SHfan)
(4) UHHSE WeR fava™, 9ue afor sifeeEH W A

Which one is not the objective of the SAARC ?

(1) To promote the welfare of the people of South East Asia and to improve their
quality of life

(2) To accelerate economic growth, social progress and cultural development in the
region

(3) To promote and strengthen collective self-reliance among the countries of South
Asia

(4) To contribute towards mutual trust, understanding and appreciation of each
others problems

83. 2000 = UFY FHY aRor=r fepd s ?

3, TIEH AT 4 THRAI IE Fa

¥,  GEEeE EeeeR e e

& e g

g, diftk, wEiaeig onfor enfies feiaw gt W

Fheda Hvr fFum e amed 2

(1) &, F o7 & e 2) 9, % M0 g T

(3) A, & 30T T e (4) &, & 3M0T § G

What are the objectives of National Agriculture Policy 2000 ?
More than 4 percent agriculture sector growth per annum
Control food inflation

c. Growth with equality

d. Technologically, environmentally and economically sustainable growth
Which of the statements given above are correct ?

(1) a, b and c only (2) b, cand d only

(3) a, candd only (4) a, b and d only
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2011 - 12 HEd FOIl QR YEaEqed Qe Skl Agrl ael aldl.
)

¥, ofE, weuw anfor g®

% wEad

3. I

g gy fAaer .

(1) W 31, § oAf07 & (2) ad 3, ¥ 3T €

(8) W W, & 3T § (4) Sad o offoT €

The following were the major drivers of food inflation bduring the year 2011 —

a. Milk

b. Eggs, Meat and Fish

c. Edible oils

d. Sugar

Select the correct option :

(1) .Only a,bandc (2) Onlya,bandd
(3) Onlyb,candd (4) Only b and d

Co1

12.

85.

g e (Sa) IR FEFT 9 SHAT A0 ST ?

¥, YISV FRIHATEA] eAHITAIEE WH U FEA 0

T ST HEAEAAT R 200 | |

% WAfsd IEAEATAT IR gaer Sueed FE Q0

T W screre frafde S 30

Fheda B fagm st aRd ?

(1) 37 YT & ek (2) ¥ AT T F
(8) & M & Hed (4) &, 9 301 %
How does the National Programme for Organic Production work ?
a. Provides the means of evaluation of certification programmes
b.  Accredits certification programmes

c. Facilitates certification of organic products

d. Encourages exports of ofganic products

Which of the statements given above are correct ?
(1) aand b only (2) aand d only
(3) b and c only (4) a,bandc
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TEHE 39 Y&l AT §67 3279 3R

¥, GEH qeae e

3. fun fEm

%, IMREd FH g

s oW s frat

FOTIE P U T 3MRa?

(1) 3 SF (2) 9 B®d
(3) & M T Ferd (4) 3 0T & ek
National Food Security Mission is mainly aimed at
a. Food Inflation Regulation

b.  Crop Development

g o

Sustainable Agricultural Growth
Exports of agri-products

Which of the statements given above is/are correct ?
(1) Only a ' (2) Onlyb
(3) Onlycandd (4) Only a and ¢

TE Sesarmad st #e) iy gderm a2

. el WAl 25 T 100 TH.

¥, YaHad YHedH a6 el A,

. AHd GEEA [GHY Th Al 92,

T S TR SR 9.

Feds v fae ale 3MRd ?

(1) 31 30T & Gerd (2) 3 IfoT & e
(3 3, 9 377 % 4) ¥ & AT g
The features of National Horticulture Mission are as follows :
a. Subsidy limit ranges from 25% to 100%.

b. Bank loan is compulsory for credit linked proposals only.
c. HRD is included as an integral component.

d. Purchase of land is eligible for subsidy.

Which of the statements given above is/are correct ?

(1) aandc onlyA (2) aand b only
(3) a,bandc (4) b,candd
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88. UFT FH faw A1, 2007 EvES fAi= aey
(1) 100 T TAZR
(2) R AOT [T 60 : 40 = FHOT
(3) g 3N TSHGTAH 40 : 60 AT FHUIA
(4) 100 T3 FgER
The allocation of funds for Rashtriya Krishi Vikas Yojana, 2007
(1) 100 percent by States
(2) in ratio of 60 : 40 between Centre and States
(3) in ratio of 40 : 60 between Centre and States
(4) 100 percent by Centre
89. WHIUT W el YEHEE WauH @ [Eeis! Hivme FHvT Rae tiEdae @
3R ?
(1) <. e R 2) . THI. Fga Fam
3) ®. TReE (4) . s WA
‘Provision of Urban Amenities in Rural Areas’ is a vision of transformation of rural
India of
(1) Dr. Manmohan Singh (2) Dr. APJ. Abdul Kalam
(3) C. Rangarajan (4) Dr. Amartya Sen
90. WRa fmfvren @rfEla qEidt S guew SR

3. Tl qEe

g, Tgfamir

. Tl

g,  dcdygull

WW%—E@T: ‘

(1) 3 3nfor 9 wad (2) 3, & HMfT &
(8) & 3Mfur & e (4) 3, 9 M1 g

The following areas are on agenda of Bharat Nirman :
a.  Water supply

b. Housing

c. Roads

d. Ports

Select the correct option :

(1) aand b only (2) a,bandc
(3) b and c only (4) a,bandd
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UNDP STfia fo& 3/gara 2010 TR 9H9 faem fduismdia ges S ?
(1) oTfa Ste frderiesn, Thafirs frdwien amfn seaw fdwnss

(2) oTferd Se frdwrier, Yufre fdwis ot ot wReh Sarew vl
(3) 3fa e fAdviies, amRar fadeis afor s fdwie

(4) T e frdwriss, Ve fduie ot amud Sam M

The components of Human Development Index as presented in the UNDP World
Development Report 2010 are

(1) Life Expectancy Index, Education Index and Income Index

(2) Life Expectancy Index, Education Index and GDP Index

(3) Life Expectancy Index, Literacy Index and Income Index

(4) Life Expectancy Index, Education Index and Nominal Income Index

NNP* = GNP - D_ — D, ® Trcyyl feqs U8 Iccar adieor 3T, o eieonsd
D #fT D F& 3T ?

(1) D_ = Scfed wigeell =1 991 30T D = JafeRvfid wigaaran 56w

(2) D_ = dfiid weas Tw=1 997 M0 D_ = Tafewvid geaerr SN

3) D. = I WWWWD;W Tigad! a&d= 9%

(4) D_ = 49 wfeael e ae #Mfon D = wfewi dieae s 9%

Sustainable NNP is shown by the equation NNP* = GNP —-D_ - D_. WhatdoD_ and

D stand for in the equation ?

(1) Dm for depreciation of manufactured capital assets and Dn for depreciation of
environmental capital

(2) D, for depreciation of natural capital assets and D_ for depreciation of
environmental capital

(3) D, for appreciation of manufactured capital assets and D_ for appreciation of
environmental capital

(4) D, for appreciation of natural capital assets and D_ for appreciation of
environmental capital

g

8

Hed.

(2) WCHRF ST SN TqEE A Wahg @ T[aavE.

(3) WESe Tehd Tdau[e, GRF T Taduls 3Tl ey e

(4) T ToIE TdaUL.

Foreign capital consists of

(1) private foreign investment consisting of FDI and FPI and foreign aid.

(2) private foreign investment consisting of portfolio investment and direct
investment.

(3) public foreign investment, private foreign investment and foreign aid.

(4) direct investment only.

FHTAT BHTEIS! 3T / SPACE FOR ROUGH WORK
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R Al woe

(1) SR G U Sed’ T sidld N SR WK 39 @Y ST
TP YA FH @9 IHSed Tew TP U9 ad.

() ﬁﬁwwmmmgwmww@ﬁqu%ﬁ%
Td Tl weH UPT Y g

(3) FENd orE¥S Wt heume Wh fhar fvd wewr UPiHE Iwied § IuHTH
AT HH G THATH Sl Fidl 7YA s @9 STl HeH 3TIEH §E
B,

4) & G AU segs ot Sfmid wed IAEA iR 399 @d
FFFee S AU HH @ SrHeedl IR-geHE e Y 8.

Trade creation is said to occur

(1) When common trade barriers and internal free trade lead to shift in production
from high to low cost member states.

(2) When common trade barriers lead to shift in production from low to high cost
member states.

(3) When the erection of external barriers causes production and consumption of
one or more member states to shift from lower cost non-member sources of
supply to a higher cost member producer.

(4) When common trade barriers and internal free trade lead to shift in production
from high to low cost non-member states.

95. STWEF A0 AR (IMF) a1 9 qesl Fvd 3RYT 18T ?

(1) iU A0 FedEen Mg <ot

(2) SITUFT AN FEREET T SHae 99t S8t Hed !
(3) fafme ferder Moaed <o

(4) TR qaiE Ay AR

Which one of the following is not an objective of the IMF ?

(1) To promote international monetary co-operation
(2) To facilitate the expansion and balanced growth of international trade
(3) To promote exchange stability

(4) No option is correct

TN HHNITS! SN / SPACE FOR ROUGH WORK
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IJ9q T HMT e AANIG FagR Gaud Weie HivTem Sfagdl 7ed 3Gl geeasr
eI gl ?

A, GRS Hdhd! g ey Hey sl

%, Ufadia stocry Sfdgdt g, ORedid goaer dey gfdsdl 1
g T fAaer

(1) AT 9 (2) o M 5

(3) 9 T § (4) A, 9 301 %

In the linkage between the self help groups and the banks, NGO’s (Non Govt.
Organisations) are involved in which of the following model/models ?

a. IFAD model b. Indirect linkage model
c. Modified indirect model d. Modified direct linkage model I
Select the correct option :
(1) aandb (2) aandc
(3) bandd (4) a,bandc
97. <. QU IR AW e RER v SfEm Ware $ed RIEE &
EICICiN
(1) U §d (2) 3I9A HAQ
(3) ITHI (dherl) TgUT (4) 3R feat
Dr. Suresh Tendulkar Committee suggested a formula based on for
identifying BPL families.
(1) Consumption expenditure (2) Income level
(3) Calorie intake (4) Health conditions

98.

T AEY THAT A Felt A W IaHAE AR gHh YT STOn S
(1) TEHN g o g
(2) Ve TERE W
(3) WEHRl P& T HEA
(4) TN GUR I Feq

In system the individual ownership of land is retained though the land
is jointly cultivated.

(1) Co-operative Joint Farming Society

(2) Co-operative Collective Farming Society
(3) Co-operative Tenant Farming Society
(4) Co-operative Better Farming Society

FeAT BN SR / SPACE FOR ROUGH WORK
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A
99, ‘gavl s Hivren ferel dadia smR ?
(1) =g (2) dafaEn
3) T (4) HEEEIE fae
‘Golden Revolution’ is associated with 4
(1) Foodgrains (2) Oilseeds
(3) PFruits ‘ (4) Spices
100. f&E FF §F 1970 TR I STeaETe fauda S SUET fauR St
@ gt Amet @
(1) sf. waeT fam 2) sf. meie
(3) i a&d (4) €. @
In 1970, RBI had formulated a committee under the Chairmanship of
to study the Differential Rate of Interest (DRI).
(1) Dr. Manmohan Singh (2) Dr. Gadgil
(3) Dr. Hazari (4) Dr. Swaminathan
101. 9RA™ 2010 — 11 I7 9 THOT 3FGRT Iae el ?
(1) 23447 < <& 24 (2) 218:11 < & 4
(3) 24156 < Y <4 ' (4) 25050 <Y & 4
Total foodgrain production of India in 2010 — 11 was
(1) 234:47 million tonnes : (2) 218-11 million tonnes
(3) 241-56 million tonnes (4) 250-50 million tonnes
102.Wmm@§mﬁamaﬁwmmwm ?

3. UNUTHESR g, el

% N ey 3. SN Wie aERef fEi
(1) 3 3nfor & (2) 3, & M1 §

(3) 3 3T & (4) I, T F AMT

Tenancy reforms include

a. Ownership rights b. Consolidation of holdings

c¢.  Redistribution of land ~d. Regulation of rent

Select the correct option : ,

(1) aandc : (2) a,candd

(3) aandd (4) a,b,candd

ToAT SIS SR / SPACE FOR ROUGH WORK
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103, WRG GHRA 3 RIS B TS I P ol
TR IUATEIST AT hed.
(1) 9NN 64 F W T 64
(2) ST IR 17 9 .8, 366
(3) WHUH.TH. 2971 9 Sg.UH. 1025
(4) WElT=y, 38 9 TAEN. 2894
The Government of India organised import of and wheat
varieties to accelerate production.
(1) Sonara 64 and Lerma Rajo 64
(2) DWR 17 and GW 366
(3) MACS 2971 and WH 1025
(4) CBW 38 and HD 2894
104, T YRR fasETERt T HRY T e Sk e st
BugrEdt fasrg il T e _
(1) A& (2) WAL,
(3) WA.ELEL (4) JFTIA.
has set up rural infrastructure development fund for speedy completion of
state irrigation project.
(1) NABARD (2) AIBP
(3) NCDC i (4) IADP
105. T 2012 - 13 97 aWiEid! g A1 et feme smaRye g Taaifen gand
UG aTefquaTd STl
(1) 165 (2) 170 3) 175 (4) 180
The MSP for wheat in 2012 — 13 shows an increase of ¥ over that of the
previous year.
(1) 165 (2) 170 (3) 175 (4) 180.
106, TIEHRU] SHRIHIS! ARG THAA SRR Jefe I JUIETEET THGY 3TEE.
(1) 100 (2) 200 3) 170 (4) 400
An adult requires grams of cereals every day in his vegetarian diet.
(1) 100 (2) 200 3) 70 (4) 400

Pl BHS! I / SPACE FOR ROUGH WORK
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107. JUTEAHS a9 T 3.

(1) 646 (2) 05 (3) 160 (4) 464

FYM contains percent of nitrogen.

(1) 646 (2) 05 (3) 160 (4) 464
108, HYU W GORY SEUT AT (MDM) 3fate ESICIES CIARIC RO

(1) wafies adie

(2) afe yafas TS
(3) WgfHe g 3= (afis) yiaftes Wesdid
(4) WHeAfa® Yoddtel

Mid-day Meal Scheme is serving children in entire country.

(1) Primary school
(2) Upper primary school
(3) Primary and upper primary school

(4) Secondary school

109. FEH Hfee FE A R FAGE AT AR ?

(1) I st (2) W A &
(3) W § WEAW TGO sl (4) weH g G Ted &
Kisan Credit Card Scheme is applicable to
(1) short term loan (2) medium term loan
(3) short and medium term loan (4) medium and long term loan
110. 9¥eW SMemHd SoT WHRA 1977 Hredt SHIA YURUTGE 3l STeT.
(1) & Feae (2) T HRIA
(3) % ATRE (4) oferEer SHRYH

was the land reform system adopted by the Left Front Government in
West Bengal in 1977.

(1) Bhudan Movement (2) Barga Operation

(3) Chandra Operation (4) Bhumigrahan Operation

ST BRI S / SPACE FOR ROUGH WORK
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fafqy duden S8 &, Tdifaw, GV, EIE, 9@, FENPR, e <l
FrRmEfd dagaH Tl Fd aTR.

A, HEFEAT A o %, arEd/ T T, SHIE
Iyt e

(1) &, d, & 1 € (99) (2) ¥, T M7 & %

(3) 3, & AMT € Herd (4) 37 3T g e

Remote sensing has enabled of various resources like agriculture, forestry,
geology, water, ocean, etc.

a. mapping b. studying ¢.  monitoring d. management
Select the correct option :

(1) a, b,candd (all) (2) a, b and c only

(3) a,bandd only (4) a and b only

TR SRR 2025 T GY HEEIHEN M ST RS 1 iU ?

o, A, B, AEEd, 9, G A e STUEMed MEnel 3ues .

9. WY AU aeH FEHRIG AU AT SHavR,

& IIHNENG IRAT FAUSaR TSI,

3. TRYR aIRal AUIR SR TEUIR.

3. IXE T ME SFHUR I IALEUIR.

. SOTEE gRierd), gamH, Wwwvﬁw%ﬁﬁmﬁﬁ%wﬁ%ﬁﬁ
ELp CAGERICRCECLI

arg gaig faen

(1) 3,49, &, € 2) W, %, 8, <

3) 4,9, % % (4) 90a 949

Space Vision 2025 of India has many ambitious programs such as

a. Satellite based communication for rural connectivity for TV, Phone, Mobile,
Banking and Security.

Development of heavy lift rocket.

Sending Indian astronaut to space.

Reusable Launch Vehicle to be developed.
Land-Rover which will move on the surface of moon.

I

Enhanced imaging capacity for natural resource management, weather and
disaster management.

Select the correct option :
(1) a,b,c,d (2) f,e,d, c
(3) a,b,e f (4) All of them

FHoT DS ST / SPACE FOR ROUGH WORK
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113, YRAGE IR FEw@e o] Al yher @t i oRa. defAfiden smaqer @
Saldl shH 4l .
3. KAPS, FHHUR, TR
¥.  RAPS, TaauRl, e, ToRaH
% KAPS, 3, &l
T TAPS, NE, 31, WENE
Iy gy faer
1) A, 9, &, € (2) € 9 o, H (3) A, &, 49, € 4) &, 8 A 9
Four major Atomic Power Station sites of India are given below. Arrange them in the
descending order of their capacity :
a. KAPS, Kakrapar, Gujarat
b. RAPS, Rawatbhata, Kota, Rajasthan
c. KAPS, Kaiga, Karnataka
d. TAPS, Tarapur, Thane, Maharashtra
Select the correct option :
(1) a,b,c, d (2) d,b,c a 3) a,ec, b, d (4) ¢, d,a,b
114. e afed deae Smfes seiw arel fad Sienfad (BWRO) T39H

ATIALH. (BARC) 7 fasfaa ot oM. ¢ T39I FIMER MuRT 3R ?
(1) &R BREcEES

(2) R RIS

(3) TR HUATT HE T

(4) WAR Henfag

BARC has developed solar energy driven portable domestic Brackish Water Reverse
Osmosis (BWRO) technology for water purification. The technology is based on

(1) Solar photovoltaic
(2) Solar flares
(3) Solar coronal mass ejection

(4) Solar osmosis

el HHNTS! SN / SPACE FOR ROUGH WORK
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HEHY YT HE2H (COSPAR) 3E1®

g, oRom, @ nfor i It ST,

F. SRR o9l ST QA g S

5. Ay STEHY GeNETER GOTH O Fgeiieay =l o,
I gy faaEer

(1) W 3 for « (2) W H, F IUT T
(3) e H, & I T (4) 3, 9, F 301 T (§9)
The objectives of the Committee on Space Research (COSPAR) are
a. To promote scientific research in space.

b.  Exchange of results, information and opinions.

c.  To provide a forum for discussions and debates.

d. Discussion of problems that may affect scientific space research.
Select the correct option :

(1) Onlyaandb (2) Onlya, bandd

(3) Onlya,candd (4) a,b,candd (all)

116.

TRPTAE WgEya A4 IS AU g Telcgs Fanse ey wanedd (high
latitude cloud physics laboratory) TIelclds! HUTCA] ST 3NAE el SEA 2

¥, e

%. AR gediee v wedene foner sy (Sfva favuren o)

g,  BMH 3w

g g4y faeer -
(1) 37 3T & wad (2) 3, & 37T € Had
(3) 3, 9, & M7 g (F9) (4) 37 M1 § W

Amongst the following, which fields will be studied in high latitude cloud physics
laboratory coming up at Mahabaleshwar, Maharashtra ?

a. Cloud formation and modeling

b.  Astronomy

c.  Cosmic ray studies

d. Weather forecasting

Select the correct option :
(1) aand conly (2) a,canddonly
(3) a,b,candd(all) (4) aand d only

ol BFNITS! FN / SPACE FOR ROUGH WORK
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117. SRR HEWYT TIR QU= Se-sa=ar faegare ®ef @Ead 2

q.  FEIYEA  SHSHER g .

T WANH Wi T BT §¢ B qouad WIS,

3. UEA @R aEE Hholdl el A3 .

I g faager

(1) A, 9 (2) 9, = 3) = 4y 3, €

How is the atomic fuel waste produced in the atomic reactor disposed of ?

a. With water flow through gutter, streams and rivers.

b.  Dumping on open ground away from the human settlements.

c¢. In the underground cells in sealed stainless steel containers.

d. At the bottom of the ocean, in the sealed containers.

Select the correct option :

(1) a,b (2) b,c 3) ¢ (4) a, d
118. . B ST I TIR Sheled IRATEAT 3 T SRS Yohod U FUATHIS FH TA

aTqUa o= faframier ang A fAae.

q. WIS 389 WU TIWIR Fa oI fphia,

F. AW $u9 WUF AU WG HUESH o fashia.

g IR S WUH aRUR el foshiEd,

I g faEer

(1) dfgen o1, 380 « 3nfor faqu & (2) ufgel 8, THU § N7 faew &
(3) dfee 8, g0 & M1 980 & (4) dfgen §, qEU o oMfT fay @

Select the correct order of the following reactors used at each stage to fulfil India’s
3-stage Nuclear Power Programme formulated by Dr. Homi Bhabha.

a. Pressurised heavy water reactor using thorium as fuel.

b.  Fast breeder reactor using plutonium as fuel.

c. Advance nuclear power system reactor using thorium as fuel.
d. Pressurised heavy water reactor using uranium as fuel.

Select the correct option :

(1) 1%a 2™ pand 3¢ 2 14,29 b and 3¢
3) 1%4d,2"%aand 3¢ 4) 1°4d,2"aand 3" b

Bl BRI SN / SPACE FOR ROUGH WORK
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119, @@ RV faem sUeK aRa ?
. I fRUR wre sTefHfteT wiéeH srsadl dam.
7. e FRUNER FEE STgdl 90 deT FRUaR 7 greivdd gy v,
%, o SRR 20 9 SR @idee fidgy JROR S ook,
T i iR R fr, SaY @ied i e #he f e T,
(1) & aafor & (2 930 g
(3) T FfUr & (4) & amfor g
Which of the following statements are correct ?
Gamma radiation can be blocked by simple aluminium foil.

a
b.  Our skin can block alpha radiation but beta radiation can reach upto bones.

e

Beta radiation can penetrate a 20 inch thick concrete wall.

d. Gamma radiation can be blocked by a lead wall, a stainless steel wall or a
concrete wall.

(1) aandc (2) bandd
(3) dandc (4) candb

120, 95AF-1 9 WY oAUty Sfa YR Fd STRd. HUI A HEAE-1 HEA I
TRa ?
¥H IR RS AT ()
9. 9% Gftsrnfea aEfeer ()
& 9ER wRifGsienEe (faa-que) qEfaE
T g Stavrafavas gEtaer (9f)

Iy gty e
1) &, 9, & 37 3 (§) (2) a3 T 7
(3) had 37 IMfUT & (4) Thad 3, & 3707 &%

The findings of Chandrayan-1 have been published in international journals. Which
studies have been carried out by Chandrayan-1 ?

a. Chemical mapping of the Moon

b.  Mineralogical mapping of the Moon

c.  Photogeological mapping of the Moon

d. Biological mapping of the Moon

Select the correct option :

(1) a,b,candd (2) Onlyaandb
(3) Only a and ¢ (4) Only a,b and ¢

oAl BHENS! ST / SPACE FOR ROUGH WORK
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SUTTHICH SHTEIIAEET 3G, T, 99, JUd, e A< Al Heavaretar Swrghan aiem
R, WRAHS Hedl HRRE STuR 37 THUT 3WRE

(1) TR FITAR SN0 G I R

(2) T & FH 9UT SUVET SR 3HIe

(3) TUEm e qur A Yew A oRd

(4) T FITAE YU HH R

For disaster management, such as floods, forest fires, earthquakes, cyclones, satellites
are very helpful in giving information. These type of satellites are called as “Earth
Observing”, “Remote Sensing Satellites”. Presently India has several such active
satellites which are

(1) more than any country in the world

(2) less than USA but more than any other country
(3) more than China but less than Russia
(4) less than any other country

122,

NUGE YHREE! UL HIUTCH] YAl AR 3R ?

., WA g, 9 %, 3ORA T Ui
qry gty fEe

(1) 3 affor 9 ‘ (2) I afor g

(8) 3, & AMTE 4) 3,9, & 37 €

The treaty on non-proliferation of nuclear weapons has been rejected by which of the
following countries : '

a. India b. China c. Israel d. Pakistan
Select the correct option :

(1) aandb (2) aandd

(3) a,candd (4) a,b,candd

123.

@ﬁa%{wﬁﬁzswzomwﬁwwmmémwwaﬁvﬂ%m?

3, UF (FUET.) g

& WIeE HERE T FEEEH

qrg gty foaer

(1) & 307 & waa (2) 3, & 7T F FeRd
(3) ¥, & 37for T He (4) 3, &, & 3T T (H9)

From among the following which countries have signed nuclear fuel supply agreement
with India till 28 March 2012 ?

a. America (U.S.A) b. France

¢. Russian Federation d. Kazakhstan
Select the correct option :

(1) b and c only (2) a, band c only
(3) b, candd only (4) a,b,candd (all)
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124. WRAW a9l SO Glefte 3 Hdiar 37 3ol A 998 &4
o, S FBH I g g dd 3
F. S 39 s Juffe a3
piteiee R ECCU
(L 9 & A1 g (2) 3, &, s
(3) &, 9, s 31 F (4) &, &, € 7 9
Mention the correct descending order in which the following energy resources are used
in India :
a. Coal energy b.  Oil energy
c.  Hydro energy d. Natural gas energy
Select the correct option :
(1) a,b,candd (2) a,c,bandd
(8) a,b,dandc (4) a,c,dandb
125. JENIad o= Sumgi werquy for e Seflg gEuIee ol Sauardidt YRdd ST

fiae ¥ (ISTRAC) fafay fesmht smea. =1 smm Fivrer ?
(1) dTFF, o, HawE, Ko, 6%, 9€7e

(2) dew, A, Selder, i wisn, ey, feuare
(3) dTeEE, LY, EHSEIS, A, TS, §&

(4) TS, IME, IEECER, HACH, TEH, HEE

To control and track the orbiting satellites there are (ISTRAC) Satellite Tracking and

Command Centres established in India at various places. Which are these places ?

(1) Bangalore, Chennai, Kolkata, Delhi, Mumbai, Chandigarh

(2) Bangalore, Lucknow, Sriharikota, Port Blair, Thiruvananthapuram, Hyderabad

(3) Bangalore, Lakshadweep, Ahmedabad, Agartala, Ladakh, Hassan

(4) Bangalore, Arvi, Ahmedabad, Manali, Gangtok, Kodai

ST SHENTS! ST / SPACE FOR ROUGH WORK
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126. ‘[Pv4’ YAV NAs U] SSQUIN A% QUK AF0T T4, 2011 983 FH 9 AN
UM ‘[Pv6’ & WOTIA AT ST S0l Sq 3R, [Py6 TEd TEUT fofell S0 3@
A% T Al ?

(1) 2x232 2) 2x 25 (3 2x21 4) 2 x 2%5

The Internet recognition number given by the ‘IPv4’ system of IP address to each
computer exhausted in the year 2011. Now an ‘IPv6’ system is introduced to give the
IP addresses. What is the maximum capacity of numbering of/with the IPv6
system ?

(1) 2 x 232 @ 2x 28 3) 2x 2?7 4) 2 x 2%

127, eI Al SaTmEanT svar Jur= fafay yoelt @t e sRd. gdamRerge)

HIUT AR Afed 987 gald e @ ?
3. HTTP q. TCP
%. FTP s. DHCP
5. UDP ®. NNTP
1. IMAP - 8. RSVP
1) A, 9 8 T 2) 9, &, %, H
3 &, T, T W 4 S, W%, T, T
The different protocols are given below which are involved in the transfer of the data
over an internet connection. Which are generally the fastest protocols ?
a. HTTP b. TCP
c. FTP d. DHCP
e. UDP f.  NNTP
g. IMAP h. RSVP
(1) a,b,h, g (2) b,c, e a
3 ¢ ghf 4) d,f,g h
128, TEHIFS AW SFAIST 2000 =T IR “3G” YUTeiHed Aifgeel ag &wer e g

I FUIE TG STEEA g

(1) 100 fpeifaeE, e (2) 200 frelfoes,/dee
(3) 2 AMfeeE/qsE (4) 25 AMfEEH/HHE

According to “International Mobile Technology 2000 standards”, the data transfer rate
in a “3G” device should have a capacity of

(1) 100 Kb/ps (2) 200 Kb/ps
(3) 2 Mb/ps (4) 25 Mb/ps
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52 A

WA IT HEET 2008 =& YERG FEGHER RaFEr A1 U S, & S1veld
TEAT A T A (e HO, 80, T fhar Meemyd Wog w07 fhar Fomg qgen!
AR @ FA R @ ek,

(1) 3 3Meas AN fHal 30 TR T0 &8 fohar Q=g
(2) 3TRY [TEE R 30 TR TR < AT A
(3) 3a% qEEW fFar 2 A T T AT

(4) 3 9% AW fFa1 3 9@ T <8 fFET I

As per the IT Act Amendment 2008, whoever intentionally captures, publishes or
transmits the image of a ‘private area’ of any person without his or her consent
violating privacy of a person shall be punished with

(1) 3 weeks imprisonment or ¥ 30 thousand fine or both
(2) 3 months imprisonment or ¥ 30 thousand fine or both
(3) 3 years imprisonment or ¥ 2 lac fine or both

(4) 3 years imprisonment or ¥ 3 lac fine or both

130.

T AT HIUY ARAE dihd URET Aead (WLAN) 918t @refierds sivrd s
fra=dl (RF) aTard ?

(1) IEEE 801.22/2.1 GHz

(2) IEEE 802.11/2.4 GHz

(3) IEEE 802.15/5.6 GHz

(4) IEEE 801.24/3.4 GHz

The Wireless Local Area Network (WLAN) at home uses which Radio frequency (RF)
for computer network ?

(1) IEEE 801.22/2.1 GHz
(2) IEEE 802.11/2.4 GHz
(3) IEEE 802.15/5.6 GHz

(4) IEEE 801.24/3.4 GHz
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131, " U fawien demfae wigufa Jevaredt onftr sl agw soen T deEe
RUGLRIIES] TIR AT
(1) A 2) THET
(3) WA 4) pU=IefaEE
is secreted by human cells just to resist the immediate invasion of viruses
and spread and multiplication of abnormal cells.
(1) Interferone (2) Insulin
(3) Somatostatin I(4) B-endotoxin
132, 3t HadT TS Uy FHAOTG AR F Uvide foeR foemer soifid R werd
___ @
(1) THS T TGH (2) S e
(3) feemira : (4) SR =iy R
In tissue culture technique, compounds that are required in trace amounts to catalyse
the enzyme systems of the cells are ’
(1) sucrose and glucose (2) amino acids
(3) vitamins ’ (4) agar and gelatin
133. 8% TR F@M fHvaT BRAEd! 1 QEHSIar |1 ST Hr.
(1) TCHFT Gl ©2) ClealsFg RTT
(3) TEERRTT FHad 4) TR R
organism is used in the fermentation process during bread making.
(1) Streptococcus faecalis (2) Staphylococcus aureus
(8) Escherichia coli (4) Saccharomyces cerevisiae
134.

TRUE AG@med T TIHT GHEY A T Meed Jgedt M sl
EiG]

(1) = w 2) Wfafya &
(3) Wfefaq € (4) W @

Golden rice has been produced by introducing three genes for the production of
in Taipei rice.

(1) Provitamin A (2) Provitamin B

(3) Provitamin D (4) Provitamin C
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135.

54 A
IR TIR @A ared, Hee T = g iaavae w1 T hel S
(1) FAIICA FHAT (2) FH0FFET Qe
(3) TEHREREZT SSh (4) @ YA
Beer is produced by fermentation of barley, malt and starch by
(1) Klebsiella pneumoniae (2) Saccharomyces cerevisiae
3) Endomycetes sp. {(4) Mucor sp.

136.

@ Sem] ovge eaeddied @Rl Sesied USde Sieder etEdr 3T
TN et St

(1) TIFETE (2) gIERfTET
(3) g (4) %Y

is a symbiotic nitrogen fixing organism associated with root nodules of
legume plants.

(1) Rhizobium (2) Escherichia
(3) Bacillus (4) Typhus
137. TS & T& T TR,
1) RIS (2) AT
(3) TSI 4) STl
AIDS is a type of disease.
(1) Endemic (2) Epidemic
(3) Pandemic (4) Hereditary
138. FICHAT THAIGT THETU die md A2 Fed & EEA TGN
ST 3R, _
(1) Juffs (2) TIHT gEA hael
(3) FfEH ‘ 4) T
Bt cotton is a crop which has acquired resistance against pests.
(1) Natural (2) Genetically modified
(3) Artificial (4) Inbred
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139. MoiRdEadT AEamed Jradig = 3T JrEET HIAT.
(1) & qeFfeA (2) I SeATRRE
(3) 3t feqshem (4) 3t femeiaee
In animal tissue culture, trypsin is used for
(1) re-aggregation of tissue (2) proliferation of tissue
(3) disaggregation of tissue (4) differentiation of tissue
140. foamey EEw ot wifaed qar @varan wfwden sifqm con A
(1) AHdl SR TSI (2) 3l
(3) e (4) arRifasE
In females hormone controls final stage of formation of follicle and
oocyte.
(1)  human chorionic gonadotropin (2) adrenaline
(3) oxytocin (4) thyroxine
141. 7 U frare grEeiad SR seie Wl 3TR.
(1) frere (2) Sl
(3) femolt (4) O TR AT
is an example of a bird which has become extinct from the natural
ecosystem.
(1) Vulture (2) Dodo
(3) Sparrow ‘ (4) None of the above
142. SaE fifende Fenfn dagam S = & e TEaA Wl
B
(1) STl 7 | (2) Sfeft wisR
(3) Sfelt Hie (4) Sfeit @&

is the world’s first mammalian clone to be created by using the genetic
engineering technique. ‘

(1) Dolly sheep (2) Dolly cat
(3) Dolly horse (4) Dolly fish
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143. SLTAY, W] IS FUIHE SRS Sed LA HRUT ST
(1) gT9IRgER 319 (2) WY Gfeg 57 IR
(3) FISTHEIE 3T 4) ST dygT Jead
Agarose gels are used for separation of DNA molecules because agarose
(1) 1is positively charged (2) is a highly porous material
(3) is a hydrophobic material (4) strongly binds to DNA
144, 3% GRS @ HEAR, wed Agar faet R FRo
(1) @ e IfE faea-amed Hud
(2) O I=9 AHMIAE HEd T
(3) O TTHLEH el gnt §qead
4) o TTAC-FL LA SHa
Taq polymerase is an important enzyme in ‘PCR’ because
(1) it cuts DNA into unique sequences
(2) it is active even at high temperature
(3) it makes complementary strands of DNA
(4) it denatures DNA-RNA complex
145, e SIEFHIET AR/ STRY/IERT! BRI 7

¥, TUN I a0

q. oo IR = A staEnt

%, faumTear @ SiavE 90 STl

T, T SO OIS o R See Igo7

(1) W & 07 € (2) W T

(3) WH 3, F M1 T (4) T §&
Which of the following is/are example/s of biotechnological application/s ?
a. Preparation of curd from milk

b. Fermentation of rice using baker’s yeast

c.  Cloning a viral gene into a bacterium

d. Cloning a healthy gene in human to cure a disease

(1) Onlycandd (2) Onlyd

(3) Onlya,bandd (4) All the above
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L
(JHYISHIT)

AR, SHAER

"t

(1) 1III v I
(2) 1II I vV
(3) III II I

4) I II v

Match the following :

List I
(Earthquake place)

a. Latur, Osmanabad
b. Chamboli
c. Bhuyj

d. Uttarkashi

(1) 1III v I
(2) I I v
3) III IT I

4) I II v

II

III

v

III

II

III

v

III

57

II.

III.

II.

III.

IV.

co1

715t 11
(7@ 5 gv)

26 SHE 2001

20 IR 1991
30 <L 1993
29 AE 1999

List IT
(Date and year of occurrence)

26" January 2001
20" October 1991
3oth September 1993

29" March 1999

FHoT DTS FIRM / SPACE FOR ROUGH WORK

P.T.O.



Cco1 58

147, 37 i saten @eie g ey A sy fee
g, 39 HicaHd TEdied FEEAHN ST AHI.
%, SW HeaHE Nadid qarEl SaR T ST,
T, 30 HfA¥E Edid WOEd 50 © 100 W U gEl.
I gygfg fAaer -
(1) 3, 9 o7 % (2) 9, &% T ©
(8) 3, ¥ 3AM € (4) F AT
What are the characteristics of a tropical cyclone ?
a. Tropical cyclones have warm core.
b.  Centre of the cyclone is cloudless spot.
c.  Tropical cyclones have gentle pressure gradient.
d. Average rainfall in tropical cyclone is 50 to 100 cm.
Select the correct option : '

(1) a,bandc (2) b,candd
(3) a,bandd (4) candd
148. IrY Sedqr AT
7§t I 5l 11
a. I - AW (HAH) I 3, 2005
b. Ol - SRR II. ¥, 1993
c. TSI - HBTYX III. S{4, 2012
d. focard - ey V. Wgard, 2011
3 El <h g
(1) III v II I
(2) III v I II
(3) III I v 11
4 IV 11 I II
Match the following :
List 1 List IT
a. Mumbai — Fire (Mantralay) 1. August, 2005
b.  Pune — Bomb blast II. September, 1993
c. Gujarat — Floods ITI. June, 2012
d. Killari — Earthquake IV. February, 2011
a b c d
(1) III v II I
(2) III v I II
(3) 1III 1 v 11
4 1Iv III I II
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149, TS HvT TFE TR RO 4@ R ?

(1) 9Ra Tga

(2) IRAT GasEH

(3) TEE AT SN sTeaE

(4) A TEEA

National Disaster Management Authority (NDMA) is headed by

(1) President of India

(2) Prime Minister of India

(3) Chairman, Planning Commission of India

(4) Home Minister of India
150. 2004 783 RFEHREPRIG ST SerieR G Teie Treficiis! STkl Jo¥d BR Hiaa

YO Shifad F faderE selr ?
(1) 3feae fAspEr &2

(2) AqHEAE T e TS fHARGEL
(3) TG T AeEd W
(4) WRNIYTE Uf¥=H fepARyg)

Which area suffered huge losses of life and property due to Tsunamis in 2004 in the
Indian Ocean ?

(1) Andaman and Nicobar Islands
(2) Tamil Nadu and Kerala coastal belt
(3) Lakshadweep and Maldives islands

(4) Western coastal belt of Maharéshtra
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T - (g5 1 &= ge....)

8) R fafed doiea fafere smie &= W (@ 9%) *0@. TAqRasafiied
ITIHFR A TR FIRRR Fod FH Hedy I HA FOAEAT 3T Fot 3R, I HA
TR 9 @MUK IGANR TREM WK Hoed] “TeHed  gomr AR Sasy
FUAEEE HUfE-82” A TIGHER FRETE HOA I3 9 QN SR FAA TH
Fuiegr SREETe Y/ fFar T8 U g9 WHeT SsrA IR U 2.

(9) TR FHAULHUE! AT fafFd Foe I8 HUeHHm INCANIE & IRAIRGS W S
TR USA S0 T TR, O GG aEe Suags SHEar Smae
IUGHAT WIT-1 THAGHEHS 7 faaTal ud &0 AEyasd IR,

Y . 201, S G AE OGRS ® qAE TS A 2
(1) @ <FFe qeEdt (2) IY9ER o
(3) ST THHIEA T4 (4)  TIEHEWT g

T A A ST Q) T TR [T I IR R AT A I (3)
A, AT EetenmTY N3, 201 T sw-mwAE <8 ¥ adz i) sHited e
TEET TR 3T

w20 O @ @ ©@

M Ysd KA RAYRRNG Q% SRAM G STUGHHIS 81 grelell Seaiedt
el STUARaT o © TAHRAEEaRE dafgd ad@ quial SrEifha &4 JRgarr.
THAA Gad HTeodl JEA Sl ard, Ifwe a1 3mrEe i aus T,
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